S EEISAA7—/\ HE
SLULB FACE MILL ARBOR (Type H)
HSKA®-FMHDO-©-0©

» 9 —Z b=  Thru -the-tool Coolant Available

FIG.

. -FMH16 -37 -060 301100 1 16 37 60 34 3 16 8 4 M8 25L
3 -060 301102 1 60 34 —
-FMH22 -47 2090 301104 1 22 47 90 64 — 17 10 5 M10 | 30L
HSKAS0 -060 301106 2 60 34 —
-FMH27 -60 2090 301108 > 27 60 90 54 — 20 12 6 M12 | 35L
3 -060 301110 1 60 34 —
-FMH22.225 -47 090 301112 1 22.225| 47 30 64 — 17 8 35 | M10 | 30L
3 -060 321560 1 60 34 3
-FMH16 -37 2090 321562 ] 16 37 90 64 3 16 8 4 M8 25L
‘ -045 321564 1 45 19 3
i -060 321566 1 60 34 3
-FMH22 -47 2090 301568 ] 22 47 90 64 3 17 10 5 M10 | 30L
-150 321570 1 150 | 124 3
3 -060 321572 1 60 34 —
-FMH27 -60 2090 321574 1 27 60 90 64 — 20 12 6 M12 | 35L
3 -060 321576 2 60 34 —
HSKAB3 -FMH32 -85 2090 321578 > 32 85 90 64 — 22 14 7 M16 | 40L
-045 321580 1 45 19 3
3 -060 321582 1 60 34 3
-FMH22.225 -47 2090 301584 1 22.225| 47 90 64 3 17 8 35 | M10 | 30L
-150 321586 1 150 | 124 3
3 -060 321588 2 60 34 —
. -FMH25.4 -70  -090 321590 2 25.4 70 90 64 — 22 | 95 5 M12 | 35L
‘ -150 321592 2 150 | 124 —
3 -060 321594 2 60 34 —
-FMH31.75 -76 2090 301596 B 31.75 76 90 64 — 30 | 127 7 M12 | 35L
‘ -105 351420 1 105 76 5
3 -150 351422 1 150 | 121 5
FMH22 47 -200 351424 1 47 200 | 171 5
-250 351426 1 250 | 221 5
-060 351428 1 22 60 31 5 17 10 5 M10 | 30L
3 -105 351430 1 105 76 5
;. -FMH22 -60 -150 351432 1 60 150 | 121 5
HSKA100 ! -200 351434 1 200 | 171 5
3 -250 351436 1 250 | 221 5
3 -060 351438 1 60 31 5
;. -FMH27 -60 -090 351440 1 60 90 61 5
‘ -150 351442 1 150 | 121 5
: -060 351444 1 27 60 31 5 20 2 6 Mi2 ) s5L
. -FMH27 -76  -090 351446 1 76 90 61 5
‘ -150 351448 1 150 | 121 5
E L AR/ AYIAT A RAZIW7—INTT, ZiF3H ORDERING EXAMPLE

2. Ay IHDMITATIS VTRV MERHBLTWVET,

o)
3. B M12.M18)DT 5 TRV bHES LIEWLB S, -HSKA1 00
P.850 TS5 7TRIL bR(MBH-M12.M16) KUREESBRUZE L, -

® @ @ ©
FMH|[27}160}-060)

@ v IPAX Shank Size

4. =V M\ A TRIBENTHUFET, @ IR Holder's Name
5. ARBIIETEFEERTT . @ MR oD oD

NOTE : 1. Face Mill Arbor for cutters with OH hole. @ BRR eC1 oC1
2. Clamp bolt for fastening cutter is included. ® GLEXL G.L. Length

3.When included clamp bolt (M12, M16) does not fit, please choose suitable
MBH-M12, M16 bolt from the clamp bolt list on page 85

4. Coolant pipe is included.

5.The listed products are made-to-order products.

125



HSK

series

HSKYU—X

> BV —R)V—FS  Thru -the-tool Coolant Available

LH

! ‘

T
==
L
.
/
T
e \
\ =
(N
4\
i lI
5]
@c1
M
-
1
N
==\
-
i
1]
i
|
W
2D
@ac1
-

j@
L

FIG. oD

§ -060 | 351450 | 1 60 | 31 =
| -FMH32 -96 -090 | 351452 | 1 32 96 | 90 | 61 — | 22| 14| 7 | M6 40L
1 -150 | 351454 | 1 150 | 121 | —
3 -075 | 351456 | 1 75 | 48 | —
- FMH40 -100 o5 EEIEEC R 40 100 (555 T — | 26 | 16 | 85 | MBAM20
‘ -105 | 351460 | 1 105 | 76 5
3 -150 | 351462 | 1 150 | 121 | 5
FMH22:225 -47 200 | 351464 | 1 47 200 171 | &
-250 | 351466 | 1 250 | 221 | 5
-060 | 351468 | 1 | 22.225 60 [ 31 5 17 | 8 | 35 | M10 | 30L
3 -105 | 351470 | 1 105 | 76 5
| -FMH22.225 -60 -150 | 351472 | 1 60 | 150 | 121 | 5
1 200 | 351474 | 1 200 | 171 | &
250 | 351476 | 1 250 | 221 | 5
‘ -060 | 351478 | 1 60 | 31 5
3 -090 | 351480 | 1 90 | e 5
HSKA100§-FMH25.4 70 Seo ELIEEEREE 254 | 70 (Hg5 a1 5 | 22| 95| 5 | MI2| 3L
‘ -200 | 351484 | 1 200 | 171 | 5
-060 | 351486 | 1 60 | 31 5
3 -090 | 351488 | 1 90 [ 61 5
| -FMH31.75 -76 -105 | 351490 | 1 76 | 105 | 76 5
1 -150 | 351492 | 1 150 | 121 | 5
-200 | 351494 | 1 200 | 171 | 5
050 EIEEEE I e 5 5 —— 380 | 13| 7 | M16 | 40L
3 -090 | 351498 | 1 90 [ 61 =
| -FMH31.75 -96 -105 | 351500 | 1 96 [ 105] 76 | —
1 -150 | 351502 | 1 150 | 121 | —
200 | 351504 | 1 200 | 171 | —
‘ -060 | 351506 | 1 60 | 31 =
3 -090 | 351508 | 1 90 | el =
3-FMH38.1 -100 S5 Tas1510 | 381 | 100 o555  — | 34 |159| 9 MBA-M20
-150 | 351512 | 1 150 | 121 | —
A FERI =AYy IRT A RAZ)I7—INTT, Z5E%Hl ORDERING EXAMPLE

2. Ay IMOMIFAIS Y TRIL MERHBLTNET,

3. HEM12.M16) 05 5T MES LENEAL. _ __

=~ X URESBEU I,
P.85M TS5V 7KL hR(MBH-M12,M16) KU RIHRERU < Z2EL D Vv UIHAZ e

4. 9—5Y b TR NTBUET, ® W Holdors Name
5 ARBIFLTHEEERTT, ® KRR oD oD

NOTE : 1. Face Mill Arbor for cutters with OH hole. @ HR#E oC1 oC1
2. Clamp bolt for fastening cutter is included. ® GLRXL G.L. Length

3.When included clamp bolt (M12, M16) does not fit, please choose suitable
MBH-M12, M16 bolt from the clamp bolt list on page 85

4. Coolant pipe is included.

5.The listed products are made-to-order products.

72t YU ACCESSORIES
—

126



